lesson 25 - 24 [44]2022

o Routw method. : La -

s Couseruotive cautvol \grcg ow +We (F&;.M
eoderxs on e —torus .
14 €X on d&de\M "BMM

Bﬂ\' AB : ZR'N'V

ﬁ\wg.z M, R

k>o elovlie covgtamt

Logmwitow Qoo ¢ ¢, © ( reee F’a««\

D L&d&wr\‘g\o\.
2) E(l,\ub'bv:a -+ MVLA_

LOqa —Fm-as cla‘—C?m~4/"m,4’>
L.o.am.v-t\‘a_u wt % gﬁ‘;;a_ cao. AS = Couleq,
Pr = b 68 & cuseved  pranbiy

2%m
-— .
b dw s W 4—Tuy 9, ——‘izm./ t, Pa )
P
lu Ruder, we dotaiw %-MS (.. ) one Pma.wuj‘tr
by tuverdivg o b= &

9'q~\

=
o —

LR(q"l’_‘q'm-d_)él"l—“q'mna_’t‘)
2 (L 04y — s, ds—Gmn (G &) =P 1.

[ ta —Fnn 1 2 —Gm-a 4 9 lq,,:m(m)
LQ\Ld/ LQ %{q( —‘-\hﬂ_ Savuae LQ.SP- %g ,%r-

G4 — ‘Ym—ﬁ. )

Rrosd



Couwoler ¢, h=sd —_hn-4, (Q%:é_&,.%\;o)
N . h

e = BL 4+ 2L Oy - P Oqa .

o 26, o4, =

g‘fh, th, m g‘fh, @ 34,_"

e o BL4 B D -, Odn < 2

% TTh e 4, % %% m
N—r N

= =

Gourolisng. bo qun g — Gy Gqele coordiueles:

La (42 — Gm . ‘h——’-‘hm, £)=
'-'[L(‘h—‘}m,‘h~qm, <['M+q'—‘<}fvt./t> ZPK?“]

K=m+ta

‘(2‘.“‘\*4__4'“’):%(44.—4“‘4) qq___c-km) t/w’“)

- ?M.QWS.

\/
EXA  Cousewotive cerdral %ce, :

P ow ow et @lane

""f o Wee polar o, S,
S\LE;D to < Luganhive
Cetrat %ce, : V().

—

The lageugon ¢ L(%,8,¢,8) = K-VI(z)
{X:'CC::SQ' 3a'e.='ic.ose—cé?\'ue'

Y = Z RuS \azzn\'ua'-l-técos%'



2° . = C
Dis a '« coo = 2= =mrie=C = O /m'?.‘l
9é \|
g Condta i ch\lﬁ\n‘w\;
CaSava (o D*Q\L&v\ﬂ—?‘
he. 5 \ ow 1S oweutum W e Slweelioy
* > C - -
La(t7t>=l‘(\clb/~ N
mr Po ma™
N— ~——
) =.. oO=.
. 2
m T +Q/JL~V(1>—C,2
T 2 A mre*
\_/ v
2 LR
o 2L anr 't 2
]
KiwaLe
Lojycamge Q¢ £°‘ Le
2 | - my = -V ("3>
i(mx> - < 1-\/(’23 O ( il
dt (mr?> ¢
—_— o A~ dm., utaolive

o T pyftem | e are
= able. bo stu fhare
\/(,T.) = ? ngdlo-e.o W‘h'\l.a_
> He Cugecsalione P
1 C el aovb levels
. Mg &
A mr? s VvV L a.




Com?{,\ og_ Va (=) :
1

= warque  minimown

\u%s ow Mt owmipued svrm’?
— 00 Re W has o Cwveder vapomu.m weo hou

9%. Y- IXV. SR el
sw)= Do+ & t
S = (& —_ (\'Y\(r‘)z
m(2*) e = 2°
)= _C
1 Cr(t))—z

lGEooE—.fdc_g ON TwE TOR\lsj

f?‘*"‘lkg- L = K.




zT<¢ R

—

(%} L‘,) —_ ( oS <( (R+ ?,Cps&)/ rh'\a\f (R-r'zc;ase)’ zs«‘ue)
|

of
-\"/P = 39 = C()("%m\()(R-rzc,os%),CoSt(a(R-t'zcgs&)lo> +
~+ zé (-LDSL( Wud ~?\'\4\()0\'u\8‘, cas&).

o i vecters,
‘s e  Qume of
Swmee U 'S

? L
IWP( = (.e (R*'LCDSS’ +

. dan .Q(R-t'cc.os&yz%- ‘cqéz) = I_(S'/S./ E’)
K- 4o (€

2

C

(m (Q—l-zcsse)?‘

12
L e s Am[ S (@ggé%fzej_
RS a2 w (R+2co88 Y%,




¢ C 2
m (Rtz2cote)

—

= imnr"zél - c ®
. 2m CRt1eoss)?
\-——f—\‘——'l - ~
A (o) e N = c®
2 ValToo
)2
Kimadte euecpsy Am (Remeos )
Thase \bgrv\p«’-l—b'?— He vedlwted 4 - dim W

2
C 2R =o

\
2 \/R(e\=

m (Rtzcoss)3
2m (Re2eosS) ~ oo, T

Val®) =

Re- Coudtotion o B2 o we MM



%—;T(', (wies O\L
wiesy P«QM l_e _ C.
9, = © = am (Rt 2eose)®
C
= +
LF'(: &fo (C‘](Q*Q)’) t \?t = C
m(R+2)>

2 \_/
=O —)
) - e =
=D e - 9 = O9OF
vy ™
.= Soi\jjb {
mn T



Ber AP : 2R, v

a\wg.:MJQ
k>o MC—C-DW’\'
Logampen ot ¢p o (e Fgu.
A DLQA"W\'\\W.
2) E(}udf:bv(‘q “+ MVL&
2‘2— ’Zrl
L 2 -2 'fV\Q + '(MR, ge
4 MR = 4 @ E
K = iMV + A ,__P
RING 5 N 2 z
22
x= Ry = MR g
) 2
€ oan. 7 DAY
I~
+r
2 4 m(ﬁd 8 =
= 1V + 2 :
~ T
2 C e
(Re )
s
. 2
= dahR,ZLe + A m AR ©
=2 2 2
Kot = e * Ceae =
R ’Lc?]
g /—([(ZM*’"‘>R?L-+ R -9
= 2
A 2
\/\C»L— Q _\Kd, =



CZ'M{'““-> L(’ ~ 2K % (8-\6'):0

M T 2k B [©-¢) =0
3

S |
E = K'(e'r t Ver ¢S Coutervedl |

Eﬁu\u{'ﬂ@i
= =@+ T
%m(%-\(\:o 2 O ¢ oR, @
Srabdiley |2
2
\/\P = —-'ZKRZQ\'V\(S"‘{> . VS'= 21(({ Q\M(a-f>
v\€€ = 2.KQ2CQS(S—\€>

Vee = 2l = ey (a-\€>

Veg = Vs = ~2ee” Co3 (D-y )

* i —D E(eekvo!.b\gj
i B
’\/“(as‘e): 2ke o . 2.
" L e aue S
" Y= 22QWwrR” — e
v (& a(e+‘ﬁ o
/
1 -1
%

: : urtab ety P
To CHGEU Stﬁmu’%/wmmuha of Bsf e

—_— KX on Mauol.wa,,_



